255 :2019.06. 11

Hl5E:

LA
MF5REZ_(D6)
M4 x10 (SUS410) EEERZES
Bl HBFTABA 90° a—+—8
67
| X E AT 8E~T3£1%120mm~250mm T,
V ‘ 26180 X BT Bt s 141 20m~250m T F,
2180
\ o g
X /32315
THHEry T / e
5 T =
o ! L
; - - - g 3k
i \ E ! v : ! — -
g ,,,,,, == E B
L ) > 5 L s
E z [
T < w0 £
ot § 1| I
o o % 8
L% W =
2 A Ly
Iz | 2
% £ |
* reTe & HETEA
el el ) 1
A lo L ol
\
\
HTA
\
\
12.5 1EE180
5| 8
nl_‘ vi B A B < 1E120mn~ 2500 T 9]
[=] ==
\
PRI BT HE T I [ 120m~250m T 5 SKCBIT AT BT 31 120m~250m T T,
12180 Caqvryy 1180
(AB052P—H34)
N 1 m™m m o [i] 1 m R 1
t | HA —I i H — } i+ J‘ } EH
; ] W Wl L Ll } 1
I | I i
L774q [
+i - b
v oe—18I3 1 — voo— B3 N — —
BRPE R s £ 5
M4 x 20 (SUS304) “I‘ 9 =
£ L
S £ =
B 8 % S
o O
\ m gy L_i_a b ’;LE | \TE
5 | E & * 5
£ -1 z
s 1'F S, aun
R * | J X
: ' alll
g N S — |
2 LA ] ‘ |
L = ‘
T2
Mt
EOELE # E3 ¥ R F & 1 B & &t fi=I | #® | IHE fa R BLES
% L BIIESR T ’ m1:3 w16 | - o
T - . .
— REHBHRGR o K o : =L
. —— . . K247 90° a—+— #FE YR (L) L
l l l l l l l l ] * EEES + 000000000. 000




255 :2019.06. 11

Hl5E:

LA
Mm% X EZ_(D6)
W4x10 (SUS410)  EAERELES HBETEA
2ix RS /S—A
67
|
\
X
T vy T / B AT BE K141 20mm~250m T 3,
12180 SEMS T HET £ (2120mm~250mm T F
=180
| \
/23320
L ppls3
Fa#t ——
‘ L
e ’e
NP
BFA
\
2.5 25180
5 g
a0 e I AT R T 3141 20mn~ 2500m T 9],
[=] x|
B ATRE T A (£ 1200~ 250m T, Sadurys XU ATRE K121 20mm~250m T F
2180 (A5052P-H34) 12180 1
I T T
m — Mt
W o g I‘éﬁ::r:——:i::
[
q
BRPE %
M4 x 20 (SUS304) T
i
S {
g 17
!
HtErmE&

EOELE #E ES ¥ R F & 1 B & &t fi=I | #® | IHE fa R BLES
% BT : . ml:3 w16 |- /.
T %ﬁéﬁiﬁ%ﬁ@%é}i #ERER R 547 ® & 2 HEES

. . 0Ka4A 7 BfEa—F— WEYR R " Lo

* §E@F5 » 000000000. 000

N Y Y Y B




258 :2020.10. 14

mF2RER (D6
)

)
M4 x10 (SUS410) EEARZES

EiR L&A
GEE—=+—T 06
81 HETHA
|
| ~E
| B4+ AT B~ %1% 200mm~300mm T,
i 1RA£250 - XEI BT At 5 12:200mm~300m T F,
( 33315 BHE250
Fig#a—+—H/\—(25 =
(AT100P (£=0. 8)) gfﬁ i
| s
i
H [ H - .- k] =T
L k3 ZEZ ki o . gb gf B I !
| WX EUSN L ! o =2 = .
RS n B ol -
T M i S
| E . 5
N 3 S L
| S £
] 8 s
D PR
- L
i TEA £
Iz 2
LA {,% E
FA lal el |
o . ol
\
25
4
1BH#250
g
) SKEETRE S (%1200m+ 290m T F 5
. kL
] \
\
SE {4 AT RE <K (£200mm~ 300m T,
1Z#£250 SEI{F AT BE T % (£200mm~300mm T Y,
[ 1250
a—F—H8=05 I
? (A1100P (t=0. 8))
_ _ _ =iy RE4H 0 —F—H1/3— (25
(AT100P (t=0.8))
. | _ *Fjj B B
m 0T T r w £ .
7 T 74 ‘ g 19
W L[] L ! - e 9
LHP I o E o ‘ S
4 gl E i =
S | 5
i OEEAYDY) sRrozez ‘L“u | L
BRPE 2. | WA x'13(SUS304) B i (N gl E
| M4 x 20 (SUS304 R 5 £
x 20 (SUS304) S H 5 g skzoaex B o
oy -L & | N4 x'13 (SUS304) B
T a—F—H/\—(23) B3 Z AR §
I—F—h/\— I Fs
| i (A1{00P (£=0.8) (%’%9 x £
| | o = W
| ‘ g —— X
Y rSZXTHRER 3 = | ‘ %
W4 % 13 (SUS304) 7 - i H}[
BEIHBER § E-‘_E ==
e
\
\
EL
AL iy kv
Mt
EOELE #E ES ¥ R F & 1 B & &t fi=I | #® | IHE BLES

=g

® R
BT : : : - - m1:3 w16 |-

BOR

%ﬁg%ﬁ%ﬁ femER e ) Mj_ B & &5 HEES

Hl5E:

K247 90° a—7F— #FEYR(AR) " et

1 1 1

I I I I I I I I ] * §EES +  000000000. 000




258 :2020.10. 14

Hl5E:

mF2RER (D6
)

)
M4 x10 (SUS410) EEARZES

EEARA A BiR LA
81 HETHA
|
| Ik
i ‘ SBI TR £ 2200m~300m T F, KBV AT 3£ 1£200m~300m T,
\ 122250 12250
Fig#a—+—H/\—(25
(A1100P (t=0.8)) MT_T
i
H | i
| | S ZEZ _ bl _ e
| WX 13 GUS30) ! bt -
BEER RS CL @77@
FA
72.5 Y
4
1BH#250
g
5 KT BT 1 1200m 1 250m T, o
. kL
] \
\
[ T a—+—HI\ B
BN T AL i 1£200mm~300m T F, (ATT00P (t=0.8))
12250
Tt a—F—H/3—(25)
B ATRE S 514200~ 300m T F (ATT00P (t=0.8))
T 1Z#250
Mo m
W | [l] ] W
s
1 1 EE _
PFEIIYPY @f+ E ZEZ
BRPE X (A5052P-H34) ‘ ‘ W4 x 13 [US304)
| M4 x 20 (SUS304)
T a—F—H/\—(23)
[ m (K1100P (t=0.8)) Ti%
! | &
=t ‘ e
@ SRTHRE g
W4 x 13 (SUS304) )
BEIHBER 8
e
Mt
EOELE #E ES ¥ R F & 1 B & &t fi=I | #® | IHE fa R BLES
% L BT : ml1:3 wli6 | - o
H 1 1 & =
i — %ﬁg%ﬁ%?& 2T 5847 B £ ‘ Eh‘- @Eﬁs. L
RN 0Ka24 7 BEI—FT— MFEYR(AR L

[ T T T 1

* §E@F5 » 000000000. 000




	シートとビュー
	941010-okc-90°出隅
	941010-okc-自在出隅
	941010-okc-90°入隅
	941010-okc-自在入隅


